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SMEROME | BES 077A1018 B4 \ HI5E |  FriEHh  BERIT FRAFHIHE
‘ SUERIMO TiRIZBEET 51 SER MR
o LESOBBOBELNORES TEBORRBSLNDORES LESOBBOBELNORES TEBORRESLNORES
= = S AV 7 S HVE | = = S AV = S AV B2l =
’ 100kN/mM%# %% 1.00/ 0,00 ~ 1.61 124.67|3m%ERBZB| - ~ = = -| 100kN/mM#%#8 %% 1.00| 10.55 ~ 1599 124.67|3m%EHBZ % -~ = = =
Zhn st 1.00]1.61 ~ 940 100.00f Zh st | 000 ~ 9.40| 2.41 12.64 Zhn st 1.001 5.00 ~ 10.55 100.00| #1 st | 5.00 ~ 1599| 2.41 12.64
5 100kN/mM%# %% 1.00/ 000 ~ 248 138.79|3m%E#BZB| - ~ = = -| 100kN/mM%#8 2% 1.00| 10.64 ~ 22.64 138.79|3m%E#BZ % -~ = = =
Zhn st 1.00] 2.48 ~ 10.26 100.00| #h st [0.00 ~ 10.26) 2.62 13.76 Zhn st 1.00| 5.00 ~ 10.64 100.00] Zhllst | 500 ~ 22.64] 2.62 13.76
3 100kN/mM%# %% 1.00/ 000 ~ 217 133.76|3m%E#BZB| - ~ = = -| 100kN/mM#%#8 2% 1.00| 10.63 ~ 20.00 133.76|3m%E#BZ % -~ = = =
Zhn st 1.00{2.17 ~ 9.96 100.00| #h st [0.00 ~ 9.96[ 2.63 13.78 Zhn st 1.00] 5.00 ~ 10.63 100.00] #hllst | 500 ~ 20.00] 2.63 13.78
4 100kN/mM%# %% 1.00/ 000 ~ 1.80 127.64|3m%E#BZB| - ~ = = -| 100kN/mM#%#8 2% 1.00| 11.20 ~ 20.00 127.64|3m%E B2 % -~ = = =
Fh st 1.00/1.80 ~ 958 100.00| Zhlist [ 000 ~ 958| 251 13.16 ZFh st 1.00] 5.00 ~ 11.20 100.00| Zhkist | 5.00 ~ 20.00] 2.51 13.16
s 100kN/mMZ# %% 1.00/ 000 ~ 1.27 119.15|3m%#BZB| - ~ = = -| 100kN/mM#%#8 %% 1.00| 12.46 ~ 20.00 119.15|3m%E kB2 % -~ = = =
Fh st 1.00/1.27 ~ 9.05 100.00| Zhll4t | 0.00 ~ 9.05[ 2.40 12.61 Fh st 1.00] 500 ~ 1246 100.00| Zh st | 5.00 ~ 20.00| 2.40 12.61
6 100kN/mM#Z#BZ % 1.00/ 0.00 ~ 0.58 108.66|3mZ#ERSH| - ~ = = -| 100kN/mM%E# %% 1.00| 12.69 ~ 15.50 108.66|3m%EH#BZ 5 ol ~ = = =
ZFh st 1.00/0.58 ~ 8.37 100.00| Zh k14t | 000 ~ 837 2.10 11.00 Fh st 1.00] 500 ~ 1269 100.00] Zh st | 500 ~ 1550| 2.10 11.00
; 100kN/mMZ# %% 1.00/ 000 ~ 0.72 110.79|3m%E#BZB| - ~ = = -| 100kN/mM%#8 2% 1.00/ 10.89 ~ 13.26 110.79|3m%E#B 2% -~ = = =
Zhn st 1.00]0.72 ~ 8.51 100.00| #h1 st [0.00 ~ 851 2.07 10.83 Zhn st 1.00] 5.00 ~ 10.89 100.00|] #h st | 5.00 ~ 13.26] 2.07 10.83
g 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD ol ~ = = =
Zhnst 1.0010.00 ~ 7.1 90.29| #h 4t [0.00 ~ 0.00( 1.70 8.90 Zhn st 1.00] 500 ~ 9.04 90.29| #h st | 5.00 ~ 9.04| 1.70 8.90
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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